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1. (a) Briefly explain the “uses of private savings” ip

the economy. (4)

(b) A bond promises to pay 600 in one y%(
. 5
(i) What is the interest rate @w bond if its

price today is 400? \Q(b'
. 3
(i) If interest rate is™M 0%, what would be the

price of bond today? (4)

(c) Using IS-LM model, show the impact of investment
subsidy to the economy. How will it affect
interest rate, income & investment in the economy?
How is it different from expansionary fiscal
policy? (7

L

() o S PR amw @ @ @ wE X
AR |

(3) vF @ v 9 ¥ 600 F VAR T FI A@l H
2
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(i) % W == | 71 2 gl TH HET AT 400
27

(i) ol =s =W 40% 2, A JA qE A AT FA
w7

() rs-mﬁsamﬁnm%gq, Ffemaen W AW
s & wE T REm| a8 iee ¥ A K, Jd
AR Fw F B wrla wan? I8 Rerad T
A A freyER fer 37

(a) Given the following information : (5)
Investment (I) = 50
Government Purchases (G) = 40
GNP = 500
CA Balance = -20
Tax (T) = 100
Transfer Payment (TR) = 30
Interest Payment on government debt = 20
Net Factor payments from abroad = -5
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Compute :
(1) GDP

(i1) Net Export

&

(iii) Consumption SQ\

(v) G ts '@%Q
v overnmen a%

(iv) Private Savings

(b) “Seigniorage is first an increasing function then a

decreasing function 6f nominal money growth”.

Do you agree? Explain. (4)

(c) What is full employment budget surplus? How is
it different from actual employment budget

surplus? How does a decrease in MPC affect the

budget surplus? (4)

(d) “An increase in Government spending by $10 leads
to fall in the budget surplus exactly by $107, is

this statement is true or false, Fxplain, (7)

780 S
(3) el smed = 3@ 59

(1) ' = 50
WEN @de (G) = 40
Sedt (GNP) = 500
ECECIE L = -20
= (T) - 100
TFR W (TR) = 30
WEN H W AW A = 20
fRw ¥ ge s YEw = =5
T FRR

(iv) Rl wem

(v)  Wen® waw

(1) “Seniorage WEX YR gedl g3 FR R AR [me o

i W R s 3w ¥ e
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(®) T IR woe AR w7 A aRE Asw

o AR ¥ e wEr BT 27 ot ¥ i wore

IR AN P wafaw F@ 27

N
() “w@ER Edd $1oa‘%3ﬁ;%w§&wﬁ $10 =5
R et 2, Tw Waﬁ@m GRGE ]
3
$

3. (a) India issues 10,000 cr. debt forgiveness to one of

its neighbouring country. How-is this transaction

accounted for in the balance of payments of India.

3)

(b) How does hyperinflation affect economic activity

of a country? (5)

(c) What do you understand by Policy mix? In an

economy, illustrate the effects of a policy mix on
equilibrium output and interest rate. How the
monetary accommodation of fiscal cxpansion
leaves the interest ratc unchanged as the level of

output rises? Explain. (7
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(3T) ¥R 10,000 FAT WA Al 21 O TSR W A &
TS I Fol AHH RS D A GG | 39 o -
& ET-E Ry R S 2

(@) o AR B 2w @ afs Rl S 9
T et 27

(@) A Foor ¥ s = wwER 27 v srifaeen ¥, ge
IO IR AW R W AN Fwor @ awE @ que
W) MR- IJAET F T e 2, TwhNg RFEr
= AT TS I R/ S JIRaAT DY DA 27
RN

‘(a) What is GDP deflator? How is it different from
CPI deflator? How does CPI inflation overstate

the cost of living? 4)

(b) What is the demand for Central bank money?
Using appropriate diagram explain the equilibrium
i the market for central bank money. How does
a decrcase in the supply of central bank money

atfect its equilibrium? (&)

P.T.O.
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(c) Given : C=0.8(1-t) Y
t=0.25
I =900-20i

N
G = 800 O
S

L = 0.25Y - 50&@
M/P = 5%5$Q\
Find

(1) Find equilibrium level of income &

Consumption.
(ii) Calculate budget surplus at equilibrium.

(iii) If govt. spending increases by 200 how
much would be the new level of private

spending. (6)

(3) GDP e = 27 78 Cp1 Rwser ¥ R wer W=
27 driand Rt SEd A A deE w ad @
TH 27

780

9

(w). @6 ¥ & W R ww T 27 IIgE @ F A
TR FY AT I Y & 0 TAER A Fgor A
DR 3T I = W N gl F F0 ITB FGH
H DY gWlET IR 27

(@) far w2

C=08(1-t) Y

t=10.25
I =900-201
G = 800

L = 0.25Y-501

M/P = 500

T DR

(i)

T AN I F g ©R AT B
YEEH W T AR & oA W)

JUR WHR| W 200 A 21 2, st = =
A wR s g
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5. (@) Consider an economy whose real GDP is 5000 in
time period 1 and 6000 in time period 2. The GDp

deflator for the same economy is 105 in time period

N
(1) What is the nominal GD%@time period.1
and 2? N

N
(i1) What is the rate@inﬂation in‘time period
27

1 and 120 in time period 2.

(iii) If the real rate of'interest in time period 2

is 4%, what is the nominal rate of interest -

in time period 2? - (3)

(b) Why is central Bank money is also called High

Powered Money? Explain using the concept of

multiplier. Assuming that moncy multiplier is 7 and

overall supply of moncy is 35000, what will be the

‘ 5
central bank moncy? (5)
(¢) Explain the relationship between effectiveness ol

monetary policy & interest clasticity ol monvey
(h

demand using diapram.

Download all NOTES and PAPERS at StudentSuvidha.com

780 11

(d) Assume a model of the expenditure sector with
o govt sector. If the savings function is defined
as S = —400 + 0.2y, and the autonomous investment
increases by 200, by how much will consumption

increases? 3)

(%) v ¥t gefemgen W RER = Red awlEs Sierd
w9 &y 1% 5000 A% ww &l 2 ¥ 6000 F1 I
sferaen @ fow AR Reder w safer 1% 105 3K
wa Faw 2 ¥ 120 B

(i) @ Fafr 1 3R 2 ¥ TR FHA W, I

T 7
(i) @ sl 2 N e @ w w20

(m) ut? wwa sl 2 X avaRE =@ w40, 2,
Al wHa waly 2 N owmrer @) WWWE SR el

a7
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(@) N FF D I H TE UG TN R FE W 22
U S FTURIT H FART A §Y GHALY| T8 AR

T @ e 7 ® SR A A wE smafid 35000
2, D%y dF N e T B0
®

At A N aeEEiE %ﬂ%ﬂfﬂiﬁm
A B A U R a@%m e
Eodl @$
1 W & 9 g &9 H T Aisd A o | AR
UG Gl @ S =400 + 0.2y & ¥ § g fomar
e 2, 3R wEe FEw ¥ 200 @ gfe @ 2, @
e ¥ faet gfe e e |

(a) Differentiate between intermediate and final
goods. Under which category are Capital Goods

and inventory investment included and why?

3)

(b) Suppose that money demand is given by M =Y
(0.25-i) where income is 100 cr. And supply of

Dowhload all NOTES and PAPERS at StudentSuvidha.com
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money-is 20 cr. Assume equilibrium in money

market
(i) What is the interest rate?

(ii) If central bank increases interest rate by
5%, what should be the level of money

supply for the money market to be in

(%)

equilibrium.

(¢) Examine the impact of a contractionary fiscal
policy on output & interest rate under two

assumptions :
(i) Interest rates are kept constant

(i) Money stock is kept constant

@)

() wemadl 3R W W@ 99 Fau Rfied T
IR A FRAw =« fFw ot ¥ wie e w2 R
a7

(@) = e fr A & Wi o = A (0.25-1) EW R
T$ ® WET 39 100 AT By IR IY A IfF 20 FE
21 M@ AR N EEAT WY
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(i) == = T 27

(i) o *fg I& = X F 5% A I w2,

(@) amﬁ%mwaﬁ?ﬁawww
mm%m@ﬁ;
%.

(i) = R w R @ TR

(i) +* wiw R @ g @

7. (a) A factory owner purchased 5 new machines at
Rs. 30,000 each. He sold his old ones for

Rs. 60,000. What is the net impact of these
transaction on GDP? (2)
(b) What determine output and employment in the

classical system? What role does the aggregate

demand have in determining outpul, employmenl

(7)

and price level?

780 15

(c) Explain how each of the following events affect

monetary base, money multiplier and money
supply.

(i) Central bank follows expansionary open

market operations.

(ii) If there is an increase in the amount of
money thatpeople hold as currency rather
AR :'\m; v S

~ than déposits.. . . (6)

() vw wREE & Al ¥ 30,000 TIA YAF W 5 AE
TN @AN| IJqF FOF WA AN B 60,000 T A
99 fean e W IWR W I o9 & TE THE

w87

(@) e el ¥ SR 3R AR w4 iR e 27
I, R 3R [ wR AR @ ¥ 1w aw
& s 27

(¥) W&mﬁ%mm%m,m
T 3R AR SR W DY wRE wE })
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BEl & fow Adw

I WIE-TF & el & aw Re v AuiRe == W smer
WWI ®
2. [ ER T T | w3l we e S’Q\

3 mwémﬁwﬁaﬁwé‘r%&ﬁaﬁml
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5. 9 WE-UF & IR Aot a1 B f6d ¢ s F Afvwg, Afe
T IR = WEIH UF 8 B IRy |

1. Attempt any four of the following : (6x4=24)

(a) (i) LetY
and L
Y as a weighted sum of the relative rates of

10KL — /K -/L and K = 0.2t + 5
5e%!t, Express the rate of change of

I

change of K and L. Can you attach any
economic significance to the weights?

(ii) Let r = r(x,y), x = x(s,t) and y = y(s, ().
Given that

x(1,0) =2, x](l,()):—' -1, x5(1,0) = 7,

y(0)=3, y(l)=0, y'(0)=4

Download all NOTES and PAPERS at StudentSuvidha.com
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r(2,3) = -1, r(23) =3, 1(23)=5

r(1,0) = 6, r)(1,0) = -2

Calculat & ts=1,t=0
acuaeatas . .

(b) Given f(x,y) = In/x? +y2 .

(i) At (1,0), in what direction does f increase
most rapidly? What is the rate of change

in f in that direction?

(i) Find an approximate value for f(1.01,0.02).

How large is the error caused by this
approximation?

(c) (i) Given f(X;.X5on X)) = X0 Xy Xy X Is f

homogenous? Is it homothetic? Are the first

order partial dertvatives of the function

homogenous and if yes of what degree? Show

o SR 1
that V't ux,,x‘....‘.\H)L—,—‘--,— :
- Xy X» X

(i) Suppose that t(x, v) is homogenous of degree
2 with £(2.3) 4 and (3(4,6) = 12. Find
(0,9,

P.T.O.
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(d) The following system of equations defineg
u = u(x,y) and v = v(x,y) as differentiap]e
functions of x and y around the poijpy

P=(x¥y,uV)= (1,1,1,0) :

(u + 2v)® + xy? = 2u — vaQ

Q
(1 + u?)? - z%v = 8x &@s}vz

NS
Differentiate the system a@d the values of u,
u)',, v, and v;,. QQ
) f ZX
(¢) (i) For the functiom, | f(x,y,2) = ——x,
(x+v?)

determine whether the function f increases
or decreases at a specified point P, = (1,1,1)
when one variable increases, while the others

are fixed.

(i) Assume that the equation e®’—2x—4y=¢
implicitly defines y as a differentiable function
of x. Find a value of the constant ¢ such thal
f(0)=1 and find the slope and the equation
of the tangent at the point (x,y) = (0.1).

806 5

i ¥ ¥ B Or @ I ARkl

(@) (i) 7 ARA Y = 10KL - JK —+/L FK=02t+5
R L = 5e00 Y ¥ qRadT &t o # K dR L
£ qRaST 3 g0E A & R AT B TG X e
) T AT 3R g FE T Aewd fewr whd
g7

(i) #40 f&F r=r(x,y), x = x(s, ) Ty = y(t) | fear
§3ﬂ%:
x(1,00=2, x|(1,0)=-1, x)(1,0) =7,
y(0)=3, y(1)=0, y'(0)=4
r(2,3) = -1, (2.3) =3, 1(2,3) =5
r(1,0) = 6, ri(1,0) = -2

%a\ts:l‘tzoaﬁmaﬁﬁial

O

(@) SE R W fGy) =l xt by

(i) Wer [ A A (1,0) R frw fm F sga
27 ou Rwr N W wRadw o ® =@ 27
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(i) £(1.01,0.02) & fow AT a7 w1y R |
T GAEO @ FROT g5 FC e @ 2o

@ () R m f(x), X, X)) = XX, X, X,
foed (EFeiad) 87 o A T (B
‘2? w1 f B g HIC anfﬁm (

ﬁ@w)%sﬂ-{
uﬁaﬁrmm
s
VE=1(x,, X,y .., X )| —>—2r,— | Teaw |
X X2 Xy

(i) o A fF f(x,y) B 2 = wwew 2 9w
f1(2,3) = 4 3R £}(4,6) = 12 W £(6,9) 7 FX |

§L

(a) fr=ferfaa et &t Jomelt u = u(x,y) 3R v = v(x,y)
St fERTP =(x,y,u,v)=(1,1,1,0) % 3@ x 3K
y & Fasaa (Rfideer) wom & w9 ¥ gy e
2

(u+ 2v)> + xy? = 2u — yv

(1 + u?)’ - z2v = 8x + y’w?

ot 8 fefe A
H] |

v’mﬂv’yaﬂmfﬂﬂ
X
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® () R we f(x,y,2) = (Xj"yz),a}mﬁuﬁ

# f&F weaw v Ffde g P = (1,1,1) W s
2 W gear 2, @ T W dedl 8, e J R

B 2

(ii) T foF T 9 — 2x — 4y = c R (SFfie)
WAy & x B v Jawera (RbRdeEe) we
T ¥ gRefed et 21 W f(0) = 1 R gsw
2 @ fors ¢ =1 99 7 S T 63 (x,y)
= (0,]1) R W@ (IA9e) = O () IR
T T S |

Attempt any four of the following: (7x4=28)

[89)

L . - e vy = w2 — v2 — x 3
(a) Consider the function f(xX,y) = X° =y~ = Xy — X",
Find and classity its critical points. Find the domain
S where tis concave and tind the largest value of

{in S,

P.T.O.
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(b) State the necessary conditions for the solutj

the utility maximization problem, U(x, y)= (\/; . \/;)2

for general values of p_, P, and M. Find the Optima]
values of x,y and the corresponQL\@ alug of
(the langrange multiplier). What he consumey’g
demand functions for x ank& Find the indirect

utility function U*(p@, M)“and” verify tha

v
oM

(c) Find the extreme points and extreme values for
f(x,y) = xe¥ — x2 — ¢¥ on the domain defined by
0<x<2 and 0<y<1.

(d) The function f(x, y) is such that
Firstly, f’ > 0, f’ > -

x bl y ’
Secondly, {7 < 0, {7 < 0; and
Thirdly the level curye y = g(x) is defined implicitly

by fx,y) = ¢ where ¢ is a constant. The function

fi , X
1s such that all level curves are strictly €OV

806 9

Let'F be a differentiable and strictly increasing
function of one variable. Which of the above
mentioned three properties are preserved for the

function W(x,y) = F(f(x,y))?

(e) Let f(x,y) = (x* — axy)e’ be a function of two

variables with o as a constant and a # 0.

(i) Find the critical points of f and decide for
each of them if it is a local maximum point,

local minimum point or a saddle point.

Let (x*,y*) be the critical point where

x*# 0 and let f*(a) = f(x*,y*). Find

(i)

df" (o)
da

and show that if we define

Evf(x',y*,a)

A Y
t(x‘_\’.a) = (x' —C(x_\')e-‘ then

df*((l)
da A
\PERS at StudentSuvidha.com r.r.0.
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el ¥ ¥ Rl IR & IR ARA

(@) Ry M wo (FEE) f(x,y) = X2~ y2 —xy _ap

e gl A A R G W A g e

FRA Wl £ Jaaet 81 S MWT A f &y T
A Ao | S’Q&Q
»

(@) SRR st E’R@g"ﬂﬁm’sﬁ st
$

U(x,y)=(\/;+\/;)2 * T @ e smawme v

T, p, py WM B T A D Rk, y B
SfrRe AT 3R A (AN AeER) B W AT B
T x IRy F o Iuser @ Wi wowe
T }7 m&wwﬁﬁmWU*(px,py,M)m%ﬁa

T e iR o 90
oM

m)ﬁqw{“zqr"f:"f(7(,y)=xey~x2—eyEﬁl‘?ﬂ’?"—mﬁ—gr

Sﬁzmwmmm @) 0<xs<2 W
0<y<g ﬁmw%'
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(ur) fean A weT f(x, y) 39 YR B
werra: > 0, £ > 0;
Jga @E, f) < 0, f7 < 0; 71
sad: y = g(x) A f(x,y) = c B} Wer 79 & AT

farar T @ el ¢ Uk R 2 RT 0 wew f #
T g TR TUET ¥ I ? |

A oW F U Faeha-d 3R T =X 1 qUiET & Fga1
A HeAT & | IWad O Ui A ¥ wiA-ar o1 B2y g
weT W(x,y) = F(f(x,y)) & forw gefém 2 7

(¥) A AR I T H TF BT f(x,y) = (x2 — axy)e?
fear mar 2 o o R & 991 020
(i) RT 0 weT f & ffewa fig 79 e sk
I ¥ wAw @ fog frfa Fifswe i =0 a7 &g
A siteaw g, v gaaw 57 a1 G
g 21
(i) ¥ AR (x*,y*) fefeea fig & &= x* =0

df " (o)

3R W R *(a) = f(x*,y*) 21

P.T.O.
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7 Sy AR e ok &
f(x,y,a):(xz—axy)ey N TR = 3

8f(x*,y*,oc ar*
@ = )= d(o‘) @R}.l
BN
S
3. Attempt any one of the (@}Q‘b
3. wing :
S

(a) To feed his stock a farmer can purchase two kinds
of feed. The farmer-has detérmined that the herd

requires 60, 84, and 72 units of the nutritional

elements A, B, and C, respectively, per day. The |

contents and cost of a kilogram of each of the
two feeds are given in the following table:

]

Nutritional Elements
(units per kg)

A B C Cost (Rs. per k&
Feed 1 3 7 3 100
Feed 2 2 2 6 _’//40/

(7x1=7)

806

(b)

(1)

(i)

(1)

(i)

(i)

13

The«farmer wants to determine the least
expensive way of providing an adequate diet
by combining the two feeds. Set this up as a
linear programming problem and find the

minimal-cost diet.

Does the optimal solution change if the price
of Feed 1 increases from 100 Rs per kg to
140 Rs per kg, with all other data unchanged?

Solve the following problem :

) [3x+2
max 3x + 4y subject to
lx+4y
x>0, y>0

Compute the increase in the criterion function

if the first constraint changes to 3x + 2y < 7.

Compute the increase in the criterion
function it the second constraint chanees to

X bdy s S,

P.T.O.
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(iv) Prove using (ii) and (iii) that if (
X,y

14

1§

feasible in the original Problem ¢,
€n the

criterion function can never pe larg
| eI thy
the optimal value of the Criterion funct: )
Ctiop

obtained in (i).

ﬁwﬁfﬁaﬁaﬁﬁwwmm@
N

V)
(aq)w%m?aﬁmaﬁﬂ%@ﬁqammm
Q
(ﬁg)mﬁzm%n@%ﬁﬁﬁa_m%%q

WE i FifeT H qwh T AH 60 qFRE, B A
84 g 3R C = 72 g # srawmEar A 2 A

YER & °R 6 Wi frae danrg 3R ae et

et ¥ < TS
Qe o
(afe wfa forel)
— )|
A B C am?r(?K‘T'%”Tﬁ”%"/vﬁ

U ]

Rl

40

LROENENE

806
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(i) foramT 3 uR = fere i R yerm S @
R T T A FeiRa e wwa 20 @
veh Waw dfr (SR A wer @ '
¥ @ sk ~Hew N G R (3Ee) A
cadl

(i) afe =/ 1 & T 100 T T fhetum F sgae
140 ¥ Wi foretomr & S @ 3R s e e
JaRafdd wa ¥, A T Ieaw amue (S
Aegye) qEo 87

@) (i) FefRaa gaen (disw) &1 wmaE
3x+2y<6
x+4y<4

’i?

(93]

7

+

4=

=
——

(if) TR qEel R (FRE) 3x + 2y < 7 @ Il
2 A W (R wer ¥ gfg Y Ao A

(i) ufe ;Bm quen (W_H) X tdy s S A wE A

A e (R we A gRE A A |

P.T.O.
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(v) @ (x,y) T TEF AR o
(FEefta wa) F: S (q) ¥ ey ;::
o (FECRAT haw) & R L S
B FH ?, T (i) AR (i) =1 3TN 7y
Eodl

"~

3
4. Attempt any two of the fol@g :
N

(a) (i) Find the area & the region between the

(8x2=16)

curves: y, = 3x* - 6x+ 8 and y, =-2x> +4x +1

from x=0 to/x =2.

(ii) Show that y(t) = 2e® + 1 is the solution to

the differential equation %l = 6y — 6 where
t

y(0) = 3. Does y(t) converge to a steady

state? (44

(b) (i) Let the rate of investment be given by th¢

‘ ' ¢
functiOn, I(t) = 12t!3. If K(0) = 25, find th
1 il
time path of capital stock. Find the am¢" .
: ) L (ime

of capital accumulation during the

interval [1,3]

(ii)

(c) ()

17

The.demand and supply functions in the

market for a commodity are given by :

Q, =4 -P.
Q, =1+ 05P

Q, and Q. are the quantity demanded and
quantity supplied of the commodity at time t,
and P, represents the price in time period t.
Find the expression for P, in terms of P_, in
the equilibrium. Solve the corresponding
difference equation. Is the time path of price
oscillatory/non-oscillatory and convergent/
divergent? Illustrate using a graph. Consider

P,=1. (4,4)

Find the general solution of the differential

equation P = 3[D(P) — S(P)] where 3>0
and D(P) = a — bP gives the demand of a
commodity and S(P) = a + BP gives the
supply. a, b, ot and B are positive constants.

Determine the equilibrium state and examine

whether it is stable.

P.T.O:
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(ii) Given that :
C, =90 + 0.8y, ,

I =50

t

Y, = 1200

$

Y, C and I are the r@mal incone,
consumption and mves@mt at time t. Fing

the time path of nat§l mcome Y- Comment

on the stability of the time path. 4,4

fFefofes % ¥ Rl @ 2 3= SRR

F) () Ty, =3x2—6x + 8 3K y2=—2x2+4x+131‘1

A9, x=0F x=2, 9% & &= & GI6A A
Fiforg |

i) el
(i) T 2% B y(1) ~ 260 + 1 i e (B

- d » il -(|J||N|i‘
m’.ﬂ:r) Y = 6y — 6 8l y(0) - 3

)
3 ~ = (ll"l

B 27

(i) ol =g & forg aem # @ (

19

@) (i) T S BEw & & weA (wEEE) [(H)=12t17

gmaﬂ‘é%luﬁK(O)=25%?ﬁqﬁR‘fﬁv‘w
9T 99 (mw)maﬁﬁmmm%’aaa[m]

& R g @ @ A S I |

faarz) sk amafa
(weeé) e few M 2

Q, =4 - P,

Q, =1+ 05P_,

Q, R Q, T t W TEg & W IR ImyfF =
AR, FA P, g W A WAy ¢ ¥ R
X P F fwo=ww P, D W (o) A
A | R (Fedf) s e
(Rwte wordwm) =) v 0 | @ < w1 e
(T wr) e A () /3R A (Fr
NN 3R 3o () / o (e

®7 Uk RAS D .
8 \'rquﬂwm\nmﬁmmaﬁlpozlw
far Y
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) (i) s e (R ) P S(De) -
S(P)]mmwmﬁaﬁbom
v g @ (RE) D(P) = a - bP 3R S(P)
_ o + pP 3mfd 2 oa, b, IR B aFE

W(W)%lﬂ@%ﬁf@aﬁﬁuﬁaﬁaﬂ?
Y & @ 98 fer 2
(if) fear @ 2

C, =90 + 0.8y, ,

Y, C[#AR [ ¥ t T UG 34, @ st Fram
5| wFm A Y, H w9 sl |
7 (erza 74) # ferar W fewoh i |

Deshbamdnu.Coﬂgge Librf“
Kalka, New Delhi-19_~
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